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1. The chi-square test for equality of percentages is useful for testing

A. asingle quantitative variable where you have numbers.
B. two quantitative variables where you have numbers.

C. attribute data that is binomial.

D. two qualitative variables where you have categories.

E. asingle qualitative variable where you have categories.

2. There are three sources of the numbers that we use as probabilities:
A. discrete numbers, continuous numbers and independent numbers.
B. relative frequency numbers, discrete numbers and continuous numbers.
C. discrete numbers, continuous numbers and theoretical numbers.

D. subjective numbers, theoretical numbers and relative frequency numbers.

E. discrete numbers, continuous numbers and subjective numbers.
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3. A standard deck of playing cards has 52 cards — 13 cards in each of 4 suites — Diamonds,
Hearts, Clubs and Spades. There are no jokers. If you select one card at random, and then

are told that you have drawn a Diamond, what is the probability that the card is the King

of Diamonds?
A.1/52 B.1/13 C. 13/52 D.26/52 E. 4/52

4. X 1s a discrete random variable that can have values from 0 to infinity, and occurrences of

the events X counts are independent. The standard deviation of X 1s equal to the square
root of the mean. The probability distribution of X 1s a(n)

distribution.
A.Poisson B. hypergeometric C.normal D.binomial E. geometric

5.1 am using a t test to evaluate the 2nd independent variable (X2) in a regression model with

5 independent variables. If I reject the null hypothesis for the t test, it means that

A. the constant 1s irrelevant |

B. the variable does not belong in the model

C. the variable belongs in the model

D. none of the variables belong in the model

E. at least one of the variables belongs in the model

6.1 am evaluating a regression model with 4 independent variables. Unfortunately, this model
is flawed because two of the independent variables explain the same part of the
variability of the dependent variable. This condition 1s known as o
A. hetroscedasticity  B. multiscedasticity  C. multicollinearity

D. homoscedasticity  E. homocollinearity

7. To do a one-way ANOVA, there must be a data set consisting of observations of one

quantitative variable collected for each of at least categories of a

qualitative variable (factor).
A.l B.2 C3 D5 EIO

8. If we wished to decrease the width of a confidence interval, we would not do which of the

following.

A. Increase the size of the sample.
B. Reduce the size of the population.
C. Decrease the level of confidence

D. Increase the level of confidence
E. None of the above
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P(t>t. (k) = a
'l k(d_-f-) o100 (K) | Zo.050 (K) (20,625 (6) | 20,010 (K) £0.005 ()

3 1.638 2.353 3.182 5.841

i T
4 1.533 2.132 2.776
5 1.476 2.015 2.571

fffzr— F SrECERSMER
P(F>F, (v,,»)) =«

yANLT: SF Vv, (df) a =0.05

3 ; 1013 | 955 | 928 | 912 | 901 | 894 | 889 | 885 | 881 | 8.79

4 - 1.71 6.94 6.59 6.39 6.26 6.16 6.09 6.04 6 5.96
6.61 5.79 5.41 5.19 5.05 4.95 4.88 4.82 4.77 4.74

5
6 5.99 5.14 4.39 4.21] 4.15 4.1 4.06

7 3.59 4.74 3.97 3.87 3.79 3.73 3.68 3.64 _I
8 | 5.32 4.46 3.84 3.69 3.58 3.5 I 3.44 3.39 3.35
9 5.12 4.26

| 348 | 337 | 329 | 323 | 3.18 | 3.14
10 | 496 | 41 | 371 | 348 322 | 314 | 307 | 302 | 298 |
11 | 484 | 398 | 359 | 336 | 32 | 309 | 301 | 295 | 29 | 285 |

ffiise= —IEECRE RO

P(X <a)
n=10
P
a | o001 0.04 m 02 | 03 | 04 | o5 m
| ol 0904 0.665 0.028 m
1] 099 0.942 0.149 | 0.046 m
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